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[01]                     No. of printed pages : 3 

SARDAR PATEL UNIVERSITY 

B.com. (III SEM.) EXAMINATION 

2013 

Monday, 7
th 

January 

10.30 am to 12.30 pm 

UB03ECOM02/18 : ADVANCED COST ACCOUNTING 

    

Ly$g NyZ: 60 
 

_p¢^ : S>dZu bpSy> âñ_p Ly$g NyZ v$ip®h¡ R>¡.  
  
â.1 iuh  L$ÞõV²$L$i_ L„$`_u ê$p. 24000_u qL„$ds¡ A¡L$ dL$p_ bp„^hp_p¡ L$fpf lp\ ^f¡ 

R>¡.  L$fpf iê$ \hp_u sp. 1.4.2009. 
 sp. 31 dpQ®, 2010_p fp¡S> `|fp \sp hj®_u MQ® A„N¡_u dprlsu _uQ¡ 
âdpZ¡ R>¡. 

(15) 

 dpgkpdp_ (ku^p¡)      76950  
 dpgkpdp_ (õV$p¡k®dp„\u)     15750  
 dS|>fu         40950  
 ku^p MQp®        13050  
 õ\p`_p MQ®         4500  
 àgpÞV$        48300  
 `¡V$pL$fpf `X$sf         4500  
 c„Npf_y h¡QpZ         3000  
 h^pfp_u dprlsu :-  
(1) sp. 31 dpQ®, 2010_p fp¡S> QY¡$g dS|>fu ê$p. 4050 A_¡ ku^p MQp® ê$p. 3150 

lsp. 
 

(2) rb_âdpZus L$pd_u `X$sfdp„ dpgkpdp_ 4800, dS|>fu 2400 A_¡ ku^p MQp® 
1500_p¡ kdph¡i \pe R>¡. 

 

(3) 7500_u qL„$ds_p¡ àgpÞV$ s\p 3000_u qL„$ds_p¡ dpgkpdp_ ApN\u _pi `pçep¡ 
lsp¡. 

 

(4) 10500_u qL„$ds_p¡ àgpÞV$ ê$p. 9000dp„ A_¡ 4500 qL„$ds_p¡ dpgkpdp_ 
6000dp„ h¡Qhpdp„ Apìép¡. 

 

(5) sp. 31.3.2010 ky^u_p¡ àgpÞV$_p¡ Okpfp¡ 3300_p¡ lsp¡.  
(6) S>Áep `f dpgkpdp_ 7500_p¡ lsp¡.  
(7) L$fpf Ap`_pf `pk¡\u âdprZs L$pd_p 80% g¡M¡ ê$p. 144000 fp¡L$X$p dþep 

lsp. 
 

(8) fp¡L$X$_p ^p¡fZ¡ 3/4 _ap¡ _ap_yL$ip_ Mps¡ gB Åh.  
  L$fpf Mpsy s¥epf L$fp¡.  
 A\hp  

â.1 V|„$L$_p¢^ gMp¡. (15) 



 2 

(1) QpgyL$pd Mpsy  
(2) õhe„cphh^®L$ L$gd  
(3) âdprZsL$pd A_¡ rb_âdprZsL$pd  

   
â.2 q¾ñp V²$pÞk`p¡V®$ L„$`_u ` V$_ iqL$s ^fphsu A¡L$ V²$L$ k„b„^u _uQ¡_u rhNsp¡ `|fu 

`pX¡$ R>¡. 
(15) 

 V²$L$_u `X$sf       100000  
 A„v$pÆs Apeyóe       10 hj®  
 c„Npf qL„$ds       10%  
 qX$Tg Ap¡Bg N°uk     qV²$`v$uW$ ê$p. 20 v$f¡L$ bpSy>A¡  
 dfpds + r_cph      dprkL$ -500    
 X²$pehf `Npf      dprkL$ -600  
 qL$g_f_p¡ `Npf      dprkL$ - 400    
 hudp¡        hprj®L$ 4800   
 L$f        hprj®L$ 2400  
 kpdpÞe ky`frhT_ MQ®  (Ap V²$L$_¡ gNsp¡) hprj®L$ 4800  
 Ap V²$L$ il¡f\u A_¡ il¡f sfa A¡L$ bpSy>_p 80 qL$gp¡duV$f_p A„sf¡ dpg_y hl_ L$f¡ 

R>¡.  S>sp a¡fpdp„ `|Z® ndsp ky^u_y _|f dm¡ R>¡.  A_¡ hmsp a¡fpdp„ ndsp_p `0% 
dm¡ R>¡.  v$ffp¡S>_u A¡L$ fpDÞX$ qV²$` iL$e R>¡. 
 V²$L$ drl_pdp„ kf¡fpi 25 qv$hk v$p¡X¡$ R>¡.  V$_ qL$gp¡duV$fv$uW$ k¡hp `X$sf 
ip¡^p¡. 

 

 A\hp  
â.2 rdrg_ V²$pÞk`p¡V®$ L„$`_u `pk¡ _uQ¡ dyS>b hpl_p¡ R>¡. (15) 
 hpl_p¡_u k„¿ep       hZ®_  
  25    5 V$__u V²$L$p¡   
  25    4 V$__u V²$L$p¡  
  60    3 V$__u V²$L$p¡  
  40    2 V$__u V²$L$p¡  
 v$f¡L$ V²$L$ qv$hk_u kf¡fpi 6 V²$u` L$f¡ R>¡.  A_¡ v$f¡L$ V²$u`dp„ kf¡fpi `p„Q dpBg_y„ 

A„sf L$p`¡ R>¡.  V²$L$ s¡_u iqL$s_p 90% S>¡V$gy hS>_ JQL¡$ R>¡.  hprj®L$ kf¡fpi 
NZsp 10% S>¡V$gu V²$L$p¡ v$ffp¡S> qf`¡fdp„ lp¡e R>¡.  dpghl__y„ L$pd v$ffp¡S> Qpg¡ R>¡.   

 

 dprkL$ MQ® _uQ¡ dyS>b R>¡.:-         ê$p.  
 kyrâV¡$ÞX$ÞV$_p¡ `Npf        1000  
 4 ap¡fd¡__p¡ `Npf            v$f¡L$_p¡   500  
 150 X²$pehf_p¡ `Npf            v$f¡L$_p¡   200  
 300 dS|>f_p¡ `Npf            v$f¡L$_p¡   100  
 dpgkpdN°u h`fpi             10000  
 `¡V²$p¡g              180000  
 Ap¡BgN°uk               40000  
 V$pef V$e|b               18000  
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 N¡f¡S> cpXy$               12000  
 N¡k huS>mu          5000  
 `fQ|fZ MQp®              10565  
 kdpfL$pd rhcpN_p¡ dprkL$ MQ® ê$p. 15000. drl_p_p 30 qv$hk NZu_¡ A¡L$ 

V$_ dpBg_u Ly$g `X$sf ip¡^p¡. 
 

   
â.3   
(A) âh©s Ap^pqfs `X$sf (Activity Based Costing) A¡V$g¡ iy„ ?  s¡_p¡ ¿epg A_¡ 

gpnrZL$spAp¡ kdÅhp¡. 
(10) 

(b) V|„$L$_p¢^ gMp¡. (05) 
 (1) `X$sf QpgL$p¡    (2) `X$sf kdyl  
 A\hp  
â.3   
(A) âh©su Ap^pfus `X$sf_p gpc_u QQp® L$fp¡. (08) 
(b) âh©su Ap^pfus `X$sf_p AdguL$fZ dpV¡$ kdph¡i \sp `Nr\ep hZ®hp¡. (07) 
   
â.4 V|„$L$_p¢^ gMp¡. (15) 
 (1) k„eyL$s `¡v$pi A_¡ D``¡v$pi  
 (2) AkpdpÞe bNpX$ A_¡ AkpdpÞe h^pfp¡  
 (3) kpdpÞe bNpX$  
 A\hp  
â.4 A¡L$ hõsy s¥epf \sp `l¡gp ÓZ Sy>v$u Sy>v$u âq¾$epAp¡dp„\u `kpf \pe R>¡.  

2009_p dpQ® dpkdp„ DÐ`pv$__u `X$sf _uQ¡ dyS>b lsu. 
(15) 

 

 dpQ® - 2009 
 âq¾ep-1 âq¾ep-2 âq¾ep-3 
âÐen dpgkpdp_ 2000 3020 3462 
âÐen dS|>fu 3500 4226 5000 
DÐ`pv$_ `fp¡n MQp® 1500 2000 2500 

 
 âq¾ep _„. 1dp„ dpgkpdp__p 1000 A¡L$dp¡ A¡L$d v$uW$ ê$p. 5 g¡M¡ v$pMg L$fhpdp„ 

Apìép lsp. 
 

 

 âq¾ep-
1 

âq¾ep-
2 

âq¾ep-
3 

kpdpÞe bNpX (v$pMg L$f¡g A¡L$d_p) 10% 5% 10% 
bNpX$_u h¡QpZ qL„$ds (A¡L$d v$uW$) ê$p. 3 5 6 
Mf¡Mf DÐ`pv$_ (A¡L$ddp„) 920 870 800 

 



 4 

 L$p¡B`Z âq¾$epdp„ A^|fy L$pd _\u D`f_u dprlsu `f\u âq¾ep_u `X$sf v$ip®hsp 
Mpsp s¥epf L$fp¡, s¡dS> AkpdpÞe bNpX$ A_¡ AkpdpÞe h^pfp_p Mpsp s¥epf 
L$fp¡. 

 

 
 


